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1. @ faur faend =
(a) ATaErEr 707 Fet € e T faviy wee o
(b) STATIrg A0 et WWTEE I ARG SHaeRAien e qe At i gifad,
(c) W AW 11 F1e= 200 W ARG AR
@t o/l faum/ saiEy g/ 3Rd ?
(1) F (o) (2)  (a) 300 (b) (3)  (b) @i () (4) T (a)
Consider the following statements :

(a) The International Monetary Fund is a specialized institution of the United Nations.

(b) The IMF provides funds to a member country experiencing temporary Balance of
Payment (BOP) Deficit.

(¢)  The IMF currently has 200 member countries.
Which of the statements given above is/are correct ?

(1) Only (0 () @and(® (@) (Mand() (4 Only ()

2, TS faum foamm = .
(a) SIS FF FhouWTE T ITFHHINTE Agd <,
(b) 1960 HE4 AT fashrd Hed= 1 Frel.
(c) STamreid oM Heen Fdie T <91 oo g Hed <.
TRl wIoR,/dF faum SUET R/ TR ?
(1) (a) @ mafiE @) @e @ FHow
Consider the following statements :
(a) The World Bank gives project oriented aid and program oriented aid.

(b) The International Development Agency was established in 1960,

(c) The International Development Agency gives interest free aid to the world’s poorest
countries.

Which of the statements given above is/are correct ?

(1)  Only (a) (2) (b) and (c) (3) (a) and (b) (4) All the above
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3. WRATSAT W TR T qui 0T EIots faamite] S faum et o ?

(1) Wﬁﬂkﬂeﬂaamwﬁasa@ﬁnﬁwaﬁ

() IOwiTE T i siwdssn fFafdy T6e a6 wol 3R,

(3) NGl ST STAUTY TSI T W™ HHI A 3T,

(4) SrEurgETE ared fafd € TRAen W AR SEREE dfired o,

Which of the following statements is not true in describing the composition of India’s
foreign trade ?

(1) Importance of non-traditional items in India’s exports is increasing,
(2) There has been a sharp increase in exports of electronic goods and software.
(3) Importance of food grains and consumer goods in India’s imports is going down.

(4) Increasing export of iron ore is a positive feature of India’s foreign trade.

4. ORURNEYR weie fAum faana =
(a) Traes &My dITFHIE TaauEEE! 12% Wigas 3ar oo I,
(b) STEEHRI FN {2 watel 50 TEIRA d 1 F17 $0ATHd FEavaw Al L.
(c) T BYZUM SRS IARAYE] 120 K] (HH) Heqd SGuATa 37w e,
TSR] o/ fagm /- SO 31/ AR ?
1) @afE @ @b (3) wEE (4 (b) s (o)
Consider the following statements about small scale industries :
(a) A capital subsidy of 12% for investment in technology in selected sectors.
{b) The limit of excise duty exemption raised from Rs. 50 lakh to one core rupees.

(c}) At present 120 items have been reserved for production by small scale sector.

Which of the statements given above is/are correct ?

M @and(© () @and®) () Only( (4)  (b) and (0
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(a) a7 iz onfor Smfdes sATa AHI A ST Hens He TR,

(by eI 3o stentd} foeTe HE SR Tt T 1949 HE e,

(c) FTides SAMR i< o quEe Hem 149 3R,

(d) SIPHdeh IR HHeAEl TRl 1 STHERT 1995 HEE 9re.

gliots! H@ /6 faum /3 e e/ TR ?

(1) () ST (b) (2)  (c) I (d) (3) P (d) (4) " (b)
Consider the following statements :

{a) India is a founder member of both GATT and WTO.

(b)  The establishment of the Genera! Agreement on Tariffs and Trade (GATT) was in
1949,

(¢} The present strength of WTO membership is 149.
(d) The World Trade Organisalion was established on the 1% January 1995.
Which of the statement/s given above is/are incorrect ?

(1) (a) and (Iy {2) (c) and (d) (3)  Only (d) {4) Only (b)

@t faum ferarg =i

(a) SR 2004 W S 200 At FaawTed, mis sfr e () i [Eondie
ety gedel YaaH 100% vdd hoards] TR wamt fad,

(b) AT 2004 WEA S2ifaT e TERTY YerEl Taave B 100% T TR aeiao.
(¢) ATEME o &R AGHETEIE TR T Jd9u[d 80% et swarl o,
R Fiow /T faam/ T e o/ 3 ?

(1) HH (a) (2) (@afmy  (3) () A () (4)  (b) 37 (o)

Consider the tollowing statements :

(a) InJanuary 2004, the government ailowed FOIT upto 100 percent in printing scientific
and technical magazines, periodicals and journals.

(b}  InJanuary 2004, the government raised FDI limit to 100 percent in petroleum sector.
(c)  80% FI permitted {or business to business e-commerce.
Which of the statements given above is/are correct ?

(1)  Onlv (a) (2)  {a) and (b) (3} (a) and () (4) {(b)and (c)
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7. 1991 <A TEZERTEREE GRHTHR, TRE TYIAN TEHeal WOMGUH! HIve Meial @2
T B 7
(1) fam sumeft (2) Frafdfe wiemE
(3) v wEE (4) PG FHANE TR

As per 1991 policy for small scale industries, National Small Industries Corporation was
to concentrate an, which of the following activities ?

(1) Raising Finance {2} Promoting exports
{3) Assistance in Marketing (4) Providing skilled labour

8. WIS R SRR e A 2
(1) U Hr=ade e s
(2) FFlE
(3) HUEFHTIHG ALHRANE T
(4} Hd AOH PIRCIE
Which of the following is not an indicator of globalisation ?
(1) Removal of restrictions on MNCs
2}  Disinvestment

(
(3) Reduction in budgetary subsidies
(

4) Encouragement to free trade

9, ‘TEd B’ € Hhedw I Gefad AR,

(1) fg-vefta =amarfasas aemeE! (2) E9eE =AIRfaTTE AT
(3) o R - (4) fawwasie <wrEn SR

The concept of ‘Uruguay Round’ is associated with _
(1) Bi-lateral trading negotiations. ~ (2) Multilateral trading negotiations.
(3)  Free trading. {4) Developing countries’ trade.

10. TS fashm Vo SUSHin- e vl e AR 2vaeE! slieae! gt ?
(1) fadt zwmot (2) fratdr s
(3) foquR WA (4) FUG FEANE TR

SIDO - Small Industries Development Organisation is recognised to support small scale
industries in :

(1)  Raising Finance (2} Promoting exports
(3)  Assisting in marketing (4) Providing skilled labour
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11. TOE fauH dRdEte S HMaur=n Saear .

(a) 3TH TARA RIATE THRAT A FHUF TG <F a1

(b) eardl a1 AT Y GRGH] A RIVCIRT AR STF Fohanl FlefvEy T I3,

(c) T8 I Suiaria fehmdiay Iiomy i L.

(d) SR TuHd WY W o

T HIVE fau @ e ?

(1) (b) T (d) (2)  (a) A (b) (3) (a) A (c) @) (o) nfm (d)

Following are the statements about removal of quantitative restrictions on imports :

(a) Tt does not allow any kind of import duties.

(b) It means the items can be imported without import licences or quota.

(c} It will not influence domestic prices.

(d) It will encourage competition at home.

Which of these statements are not true ?

(1) (b) and (d) (2}  (a) and (b) (3) (a)and (c) (4) (c) and (d)
12.  HERIEH AR B AT S e e Hevia Weie At S 1vd w@i

T 3R ?

(1) 75% FEAER A 25% TTHHR

(2)  50-50% g M T THR

(3)  100% HFEEEHR

(4)  100% TSaGTEHR

As far as funding pattern of the cost of Employment Guarantee Scheme of Maharashtra is

concerned, which of the following options is correct ?

(1)  75% by the central government and 25% by the state government.

(2)  50-50% Dby the central and state governments.

(3) 100% by the central government.

(4)  100% by the state government.
13, UEFN GGl HRERE Sdad, ITEen A0 fadta e aie qieqe [aevm = cahanid

g gata Wi

(1) 10:25:65 (2) 15:30:55 (3) 30:30:40 (4) 20:20:60
The ratio of percentage of capital investment by farmers, state and financial institutions in
Co-operative sugar industry is as follows.

Find out the correct option :
(1) 10:25:65 (2) 15:30:55 {3) 30:30:40 (4) 20:20:60
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14, @O faum o= o

(a) AT T S Hewr faove we & o aaeltade et weenl @ O,

(b) TS B Ve ITNCATSAT k- anfn Frarfa s Wreame 2.

(c) 1974 Wed U RSN (T HEMEHE AT F6).

FitotH Fiod/d faum,/F ster o/ oA ?

(1) (a) A (b) (2)  (b) = () (3)  (a) 0T () @) (@), (b))

Consider the following statements :

{(a}  The National Agricultural Co-operative Marketing Federation of India Ltd. (NAFED)
is the apex Co-operative Organisation at the national level.

{(b) NAFED promotes inter-state and export trade of farm produce.
{c} The National Co-operative Development Corporation was set up in 1974.

Which of the statements given above is/are correct ?

(1) {a) and (b) (2) (b)and (c) (3) f(a) and (c) (4) (a), (b} and (c)

15, 2003-2007 =01 - fafd WO Wi eversn SushH i ?
(1) e anfo fasmEm qemhi
(2) Taell Ty TAEUHE WeHTE
(3) o
(4) Yamersn Fatdaite Temrs R 3=
Which of the following was the most important initiative of 2003-2007 EXIM policy ?
(1) Initiatives for Research and Development
(2)  Encouragement to Foreign Direct Investment
(3) Technology Park

(4) Removal of Quantitative Restrictions on Agricultural Exports
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16. Wrows U fa=md =1 :
(a) RN § AT gawEr faum geif.
(b) W § WA GERUn= Arf qeifaq.
(c) wfAEE ¥ wRARie QuRoT W B guifE,
eI IO a4 W o7 ?
1) @af© @ @ G @&E) (@) Tewd
Consider the following statements :
(a) Liberalisation shows the direction of reforms in India.
{(b) Privatisation shows the path of reforms in India.
(c) Globalisation shows the ultimate goal of the reforms in India.

Which of the statements given above are correct ?

(1) (a) and (c) (2) (o) and (c) 3) (a) and (b) (4)  All the above

@@T&ﬁaﬁuﬁfﬁa‘mw:

() 'gEHEE HMIEE =R oo wuEar’ ae FEe Aed 1 e,

(b) e g e TiE gt 9t 8% 9 3R 7.

(c) 'wrnvgd faFmE’ AR TR s W TR ST,

FAGUHT FIOM/d faam/ T aeT g/ 31mea 7

(1) (a) S0 (b) (2)  (b) I (c) (3) HH (a) (4) WF (o)

Consider the following statements :

(@) The focus of the Ninth plan was “Growth with Social Justice and equality”.
(b) Target of 8§ percent annual growth rate for the Economy in the tenth plan.
(c) The focus of the second plan was on ‘Infrastructure development’.

Which of the statements given above is/are correct ?

1) @and(®) (9 (Mand()  (3) Only (a) (4) Only (9
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18,  STAARTRIOTT YRATe - (Fafd §o Sreiets! S 9@ Ry a4 7

(1) T greame suftn sema qariew

(2) T deemEd s AEE Sl

(3) frfa dieRE s e 99

(4) Tram drgred snf sram Sfaeftw

What type of change can be observed in India’s import-export policy after globalisation ?
(1)  Export promotion and import substitution.

(2)  Export promotion and import liberalisation.

(3)  Export promotion and import contraction,

(4)  Export promotion and import diversification.

19. OHAIE TIRTF AIGHE!, TEe Gaale edie Jd1 IuHT WUl
(1) et T ST Al T
(2) wEvTEEd TS Fersiata weTandE gwia
(3) WS TSHEEl W A A e
(4) fagm faum et wrfwn

“A new initiative for balanced regional growth” introduced under the 10t Five Year Plan
was |

(1)  Establishment of National Equal Development Plan.
(2} Resource transfer under Swarnajayanti Swarojgar Yojana.
(3) National Rural Health Mission for the poor states.

(4) Special Area Development Programme.
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20, WA HieReed W afiw et srigTah gee Y gatae o
(a) sraare fraEm
(b) fasra &= gumon
(c) oFeERHIe ferdia guron
(d) TR 0T WigHS YoTE GURON
FUGTH! HIVET/ TEE ST 376/ 30 7
(1) (a) 300 (b) () () ¥0f¥ (c) (3) (b} &AoT (d) (4) FH ()
The Macro Economic Stabilisation Programme adopted by the government consisted of
the following measures :
(a) Control of Inflation
(b)  Financial sector reforms
(c) Improving the balance of payment position
(d) Trade and capital flows reforms
Which of the option/s given above is/are correct ?
1) @and(d) (2 @and(@  (3) (and(d) (4 Only (o)
21, FfoAaedy ST A O FH! F0 o GO A fae S0 A gegn )

RIRIE
(1) davum g meh
(2) va9HF e fagrl A
(3)  Hau Tsie e
(4) GG FAHREA TEHT

The first person to emphasize on the growth of private sector by minimising the emphasis
on public sector, was

(1)  Prime-minister Indira Gandhi
(2) Prime-minister Atal Bihari Bajpeyee
(3) Prime-minister Rajeev Gandhi

(4)  Prime-minister Manmohan Singh
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22. 1A aavpE degrd A 8% 1hd Sivgl
(a) wRm@ gfawr=n wimen fas g,
(b) STARNT TRR WY AT AL
(c) FoTag FEEE .
(d) NS FE@dl I .
FiotH gra ww Faer .
(1) (a), (b) 371 (c) (2) (b =0 {c) (3 {a) 2T () (4y 9@ Hwd
Foreign investment is attracted only when
(@} Infrastructural development is good.
(b) Balance of payment is under control.
(¢} Inflation is under control.
(d) Attractive incentives are given.

Find out the correct answer :

() (a), {byand (c) (2) (b)and ()

o
w3

fa} and (d) (4} All the above

\

23, WO G HeEm =5

(a)  2004-05 9 wRaTAT fTate sesma Afyaisn o vam s faafas g

(by  2011-12 ®ed wrmmr=a fFrafa se@m Wee 5w et fada e fhsfae

() 2011-12 Wea QT F5Td Se0am Hsald 700 st Teeaidie aid 419 2T .

FUEHHR! HIud/d faum/= 3980 4@/ 2413d ?

(1) (a) &1 (b) (?) by 20 3] W (a) (4} WE ()

Consider the following statemelits

(a) Since 2004-05, enginecring goods have eccupied the Hist ploce in India’s expert
earnings.

(b)  Tn 2011-12 Petroleum products occupied the sccond position in hidia’s export
earnings.

{c) In2011-12 gems and jewellery occupied the tourth position in India s export earnings.

Which of the statements given above is/are incorrect ?

(1) (a) and (b) (7)) (b) and () 20 Only (9) (47 Culy {¢}
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24, urEE fESE saeRdt SarE T i SR R ?

(a) WESE A HFEHAT I,

(b) AHHIEE GG 7 FOA T60.

(c) wiftgw frjprdis s,

(d) weeNfay gfauErar s/EnE A9

g

(1) (@) (b) 3T (d) (2)  (b), (o) 3T (d)

3)  (a), (b) 37T (o) 4) (o) (d) =MW (a)

What are the three major reasons of failure of Indian planning ?

(a) [Inefficient production of public sector.

(b)  Unchanged occupational structure.

{(c) Failure to eliminate poverty.

(d) Improper implication of Mahalanobis model.

Options :

(1) (), (b) and (d) (2) (b (0 and (d)

() (a), (b) and () 4) (), (d) and (3)
25. WEANE THEL Ggosl - W 3N aauaTHISAl 99 T eAs - gl [God e

IREEEe AFEedd TR g FaeT dear Koo sTasariNel qors e i
HESTT™ Hear Ad. A THE FR WO

(1) @ aAfs awagard fFaa s @,
(2) AT ey qordt TR g,
(3)  TRETELUIET TTETET A2 YRAH A

(4) T TTURTE DTSy SR N fraonadie W=t quae .

Prof. 5.D. Tendulkar - the Chairperson of Expert Group for estimation of poverty - found
to have higher percentage of Indian population below the poverty line as compared to the
figure given by the Planning Commission. This was mainly because of :

(1) He used more realistic price indices.

(2) Planning Commission’s calculations were incorrect.

(3) Liberalisation has impacted the poverty conditions badly.
(

4) He included expenditure on health and education into the basket of consumption.
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26. @OE foum faerm =i
(a) HTE 2005 A€ YRA WHRA TEw FAK 2005 =1 TFHR HOL,
(b) 1970 =N MR = FTa™ HF 3751 0 W P Farel war fa,
(¢) 1999 =N ¥~ FTa=m WY fagur sifier fean.
iR wIv /0 (e, e/ e/ o,
(1) (a) 1 (b) (2) (b SV (c) (3) = (b) (4) W ()
Consider the following statements
(a) In March 2005, the Government of India adopted the Patent Act, 2005.
(b)  The Patent Act of India 1970 granted the process only for food and chemicals.
(c)  The Patent Act of 1999 provides for Exclusive Marketing Rights.

Which of the statement/s given above is/are incorrect ?

(1) (a) and (b} (2)  (b)and () (3)  Only (b) (4)  Only (c)

27. WISOUF! FHIE HeH | USTIR gHT FEg-2005"" =1 WNT TE ?
(1) IS FHFAMA Toht Tl TSR o sirge.
(2) =Tl Fewrer 15 T aa s Qe e e a1 SR il TE U9 fFEE g9
few we
(3)  FTIRIS 5% GHIS FHeAW] JsrHiErdt I0er B[ FHl $9 I,
(4) T FHEHArA HATHAAEUNY Megaat FareQr Ta.
What is not a feature of the Employment Guarantee Act, 2005 ?
(1) At least one adult member of a family will be given employment.

(2) 1f employment is not given within 15 days of demanding it, daily unemployment
allowance equal to minimum wages will be paid.

{3) 5% of wages may be deducted as contribution to social welfare schemes.

(4}  District collector will be responsible for implementing the programine.
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28. Wi frdrs wEen Wi srawale S SIVTES] AROcHS: 39 19 i ioed] TR,

[RIRCICcECILE

(a) T YT YeAel foem Fvame! favm 8= fawra wrime aeata.

(b)  HPIE YLWS ST Yehedi 1l FIGA= {GaRael Re aeh Alh TS w3 20,

() TG YT ST et Fears <o,

Tliets! w4 faur/S atET e/ e ?

(1) (2 300 (c) (2)  (b) =T (c) (3) " (a) 4) (@), (b) ()

The Planning Commission of India adopted the policy measures to remove regional

disparities, as below :

(a) Special area development programmes directed at development of backward areas.

(b) State Bank of India to provide concessional finance for industrial projects located in

backward areas.

(c) To promote private investment in backward areas.

Which of the statements given above is/are correct ?

1) @and( (2 (and(©  (3) Only () (4) (@) (b) and (0
29. WSS {4 = =1 :

(a) VRNTZMY WeFRl desdeid] Year WAt Wd vases=an e 1910 58w,
(b) 3rEHEAR e g 49 ufee Sesil Wl SREM 1959 1Y T .
(c) WEmEl SIUH! TIYAT 1980 el Harda Y fomiwne! o,

Fhtedmt HOR /A faum /Y W we/ amea ?

(1) () 370 (b) (2) (b} & () (3)  (a) 30 (c) (4) HH (a)
Consider the following statements :

(a) The Co-operative Movement in Maharashtra started in 1910 with the establishment
of Primary Agricultural Credit Societies.

(b}  The first sugar co-operative, Pravara was established in 1959 in Ahmednagar District.
(c) Mahananda Dairy established in 1980s to sell Milk in Mumbai.
Which of the statement was given above is/are correct ?

(1) (2) and (b) (2)  (b)and (c) (3) (@) and () (4)  Only (a)
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30, wEe faur faamm =0
(a) 1966 W ATALE HEHAT Hor=a] IRWaA ‘TRRN@d dgh)’ I Td9 wear=r WHar

F.

(b 1966 43 AT FEHM For=A1 Ui * JiSaolen it el 91 9atq acar=] Wiar
Fe.

(c) 1995 Ul AT TEHN GEeA TUEEESY Fdod' ¥ AdiA 9 T,

TSt HIOH/d faym/A SteT 3R/ 3ed ?

L @ @ G @ @AE) ) e
Consider the following statements :

(a) The International Co-operative Alliance adopted new principle ‘Co-operation
amongst Co-operatives’ in 1966.

(b) The International Co-operative Alliance adopted new principle ‘Limited interest on
capital” in 1966.

(¢} The International Co-operative Alliance adopted new principle ‘Duties for the
community” in 1995.

Which of the statements given above is/are correct ?

(1) (a) and {c) (2} (b} and {c) (3) (a) and (b) (4)  All the above

31. WHTUH! FUG fGUR IRET FEUERE ALUHEIMe Teae o] Ted e 7
(1) VYD @did 7498 918
(2) IR WY 1970 =4 qeAMEd ST
(3) Wego WrHEHY Hiaww e
(4) Wiead Ty, weae A w9 A6

Which of the following statements does not describe the trend in India’s Central government

budget ?

(1) Huge increase in revenue expenditure.

(2)  Surplus in current account till mid 1970s.

(3) Slow growth of revenue receipts.
)

(4) Capital receipts have been rising much faster than the capital expenditure.
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32, WISSUH! WM,/ fFEE/A A s/ aRd ?
(a) 2011-12 9% ¥ FUAIS AW 37.4% 916 @), T Toqo Ao ol H Toad &9
Hyea e o,
(b)  WeeT SN TEAGO A 1 SHAR 2013 T A 90 TRA E g,
aiEr Il
(1) WH (a) (2) T (b) @) (@ efmp) 4 T
Which of the following statements is/are correct ?
(a) In 2011-12, growth in service tax revenue was 37.4%, which indicates that service
tax is as an important source of Revenue.
(b) The Direct Benefit Transfer plan was introduced on 1% January 2013 with seven
schemes all over India.
Answer options :
(1) Only (a) (2)  Only (h) (3) (a) and (b) (4) None of these
33. WiOIGuhl I/ faum /= ava R/ 2R ?
(a)  2009-10 THA AR 941 S fOFE X 9.6% B
(b)  2010-11 BeA TERTTSA] W& IR SeqEAA HaT S0 12 61% Bl
(c})  2012-13 W TENISIT=A] TG ST SCAEAId RIS a1eT 22% .
et I
(1) (@) 370 (c) (2)  (a) =0 (b) (3)  (b) ST (c) (4) K ()
Which of the following statements is/are correct ?
(@) In 2009-10, the growth rate of service sector in Maharashtra was 9.6%.
{b) In2010-11, the share of service sector in Maharashtra’s Gress domestic product was
61%.
(¢ In 2012-13, the share of Building sector in Maharashtra’s Gross domestic product
was 22%.
Answer options :
(1) (a) and (c) (2} (a) and (b) (3) (b} and (c) (4) Only (c)
34, WERTEM HIvMcA S IUNMHE 92 YEhld [aavhiare! sifis wame 3amd ?

(1) wrfeedt o= sty o (2) eew A wHe sraH

(3) T Fxmm snfor faxdta Jan (4) e SO A A

Which two industries in Maharashtra receive more FDI proposals ?

(1) IT industry and Textiles (2) Hotel and Tourism industry

(3) IT and Financial Services (4)  Transportation and IT industry
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35. ewean fer qearEt difss Aewei Teward 3R T :
(a) W T WA FE S .
(b) e Hed FR i R
(c) Trewren Afer Teames ™% Wi e auwr fmio S
(d) e e HEUERIER TR B
et T faaH fes.
(1) (a) 9 (b) (2 @F() 3 ®F( 4) (©=(d)
Monetary management for the stable value of money is important because :
(a) Money serves as a unit of account.
(b) Money value doesn’t stay constant.
(¢}  Fluctuations in money value creates many socio-economic problems.
(d) Money value affects investment.

Choose the correct option :

(1)  (a)and (b) (2) (a) and (c) {3y (b)and (c} (4} (c) and (d)

36.  USTIR QAT WISISTRT FHIVIdr drer foeiva: $ehleus YRTEE % ol gidl 7
(1) & a wgl el
(2) TSR BHI AT
(3) T ARt SITR HFAHH
(4) U YfTEE TSTIR g F i
Which of the following employment schemes was launched specifically to cover
drought - prone areas of the country ?
(1) Jawahar Gram Samridhi Yojana
(2)  Employment Assurance Scheme
(3) National Rural Employment Programme

(4) Rural Landless Employment Guarantee Programme
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37. WRAE 3T e neMEaEe Taie FH Srfasel g,
(a) I T fordla TrEg <L
(b) TSR TN SHEwATTHT S Ao e 0.
(c) STSINI SUFTAT WO Haemd kel Gquay <o,
(d) ST SRIFTAT AR 07 Ty T I,
Fote! v/ fawrt/S g/ R/ o ?

(1) (o) 31 (d) (2) () 3 (b) (3) X (d) (4) (o)
The functions assigned to Industrial Reconstruction Corporation of India (IRCI) were as
follows :

{a) To provide financial assistance to Sick Industrial Units.

(b) To provide managerial and technical assistance to Sick Industrial Units,

(c) To provide consultancy services to bank in matters relating to Sick Industrial Units.
(d) To provide transport and communication services to Sick Industrial Units.

Which of the statements given above is/are incorrect ?

(1} (d) and (d) (2)  {(a) and (b) (3)  Only (d) (4) Only (o)

38. dg@H ATH GG Hicdl YAV 2 S A9 HRO :

(a) 4 fowm Tt

(b) HACTELS TR T

() 3= faml

(d) wwETE fa=m

i I

(1) (a), (b) ST () (2) (@) &7 (d)

(3)  (a) 3 (b) @) (b), () 31O (d)

The substantial drop in poverty as per Tendulkar formula is the result of :
(a) High growth rate

(b) Increase in expenditure on MNREGA

(c) Higher prices

(d) Inclusive growth

Answer options :

(1) (a), (b) and (d) (2) (a) and (d)

(3) (a) and (b) (@) (b), (© and (d)
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39. WESTH! ®ivd faym T e ?
(a) S Yl axq A0 Gai=t fFreaw e g@i guifda.
(b) 9 UGl Gel AT TS I Iedre gyt
(c) UM I ISTHAATHIED Jedre dge! 3N Il Igai=n Uahfad ar9 el .
it 9
(1) (a) 3707 () (2) (b} 3T () 3} (a) 3 (b) (4) o g
Which of the following statements are correct ?
(@) Product method estimates the net value added of goods and services.

(b) The income method is employed in estimating of GDP of service sector.

(c} A combination of product method and income method is used for national income
calculation.

Answer options :

(1) (a) and (¢} (2) (b) and (c} (3)  {a) and (b) (4)  All the above

40. WEGTR SR/ faur/S ara ey Ied ?
(a) WeATHd FF 9 FRIT B FIOR TSl .
(b) eTeraldd T & v HEa (FIME) F TR FOM 5 SR,
(c) HoIarHa s FNGISIavHes T W=l TUHAT Tl 3770 Wie] Wl a6 e,
it 3w
(1) () 3 (b) 2)  (b) (o) (3) WK (o) 4) o wd
Which of the following statements is/are correct ?
(a) The Value Added Tax (VAT) uses multi-point tax collection method.

(b) Non-VAT uses single point tax collection method.

(c) Implementation of VAT will improve the purchasing capacity and living standard
of the poor people.

Answer options :

(1) (a)and (b) (2) (b} and (c) (3)  Only (c) (4)  All the above
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41. VRGN FGA 9T TSTA SAOTATT WG] Sl T 379ed, 3. fasa theeewt o=
AT AT IO Hed g ?
(1) @ Famme i ymwmd 7e9e ae S0
) T{ReH gare fam w
(3) U Gl deadl
(4)  FgHAd= yHm FI TR FHH HO

Which of the following approaches the Task Force under the Chairmanship of
Dr. Vijay Kelkar, adopted for transformation of Indian tax system ?

(1) Raising revenues more than compressing expenditure,
(2) Compressing unproductive expenditure.

(3) Increasing the number of taxes in India.

(4) Reducing tax avoidance through strict actions.

42, Y@ o wiE wole Ml TR ST
(1)  seRr= Talfifdr anfoy Saf=h fidd
(2) e I=viE
(3) vaffifdt gR dehiwgd et a6
(4) =U® ¥ aEl
* Which of the following is explained by the process of money multiplier ?
(1)  Creation of credit or deposits by banks
2)  The source of highpoweredness of money

(2)
(3) Multiplication of money through credit creation by banks
(4)  All the above statements

43, wifgfies Y@ O TGS AEATIS Sl GT@un! I HRITEC! @O0 T Hhi
a7
(1) EweRrE gfama
(2) TR A= TR UG w6 qUATEa!
3) fidfma &< wriwm veEvaEE
(4) w&EM TE fawd st

Statutory liquidity ratio is a cash maintained by the commercial banks for which of the
following reasons ?

(1)  Account holder’s safety.

{2) Lending to government to overcome emergency situations.

(3

) Directed credit programmes.
(4) Buying government securities.
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44, WSS ATl et :

‘A7 (pHt faEmdte ) B’ (I &7 )
(a) ETHT o3 v foendia () worTeT fre
(b) eEE I Hi famrds (i) TN, MY
(¢) wSenat &Y faemdie (iii) R, SER
(d) o SresEigd wed FY fommdld (iv) g, SR
TatEt I

@@ (b) (@ (@
(1) (v) () ) (i)
2) @) @) @v) ()
(3) @ Gv) () (i)
4 O G @) ()

Match the following pairs :

‘A’ (Agricultural University)

‘B’ (Reaserch Area)

(a) Mahatma Phule Krishi Vidyapeeth (i  Horticulture corps
{b) Punjabrao Deshmukh Krishi Vidyapeeth (i) Cotton, Wheat
(¢}  Marathwada Krishi Vidyapeeth (i) Sugar cane, Jawar
(d) Dr. Balasaheb Sawant Krishi Vidyapeeth {iv) Wheat, Jawar

Answer options :

(@ (b) () (d)
(1) (v) () @) ()
(2) (i) () () (D)
(3) @) @v) @ (i)
@ O Gy (i) (@)
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45, ot S faur Sifa e TR afome e ?
(a) TR HEfed &g STHHfd 43 oo 1o,
(b) =gl i .
(¢) TR HoA= g 7o,
(d) e TEE AATH AE,
1) @9 (2)  @3(d) 3) BF© (4)  (a) 9 (b)
Which of the following statements reflects negative impact of globalisation ?
(a) Globalisation has pushed workers from the organised to unorganised sector.
(b) Globalisation has created competition.
{c)  Globalisation has reduced the bargaining power of labour unions.
{d) Globalisation has increased FDI.
(1) (a) and {c) (2) (a) and (d) (3) (b)and (c) {4) (a)and (b)
46. HHW, 2012 HHA I9HF G 12 FI&, [AAYE @Y 8 B 9 WHIN Fhewa 10 F T F
789 Frafa 5w afon s 6 FREE AL G @ A e fehdt 3T ?
(1) 41 =1 (2) 29 ®e (3) 15 @ (4) 25 &
Suppose that in the year 2012, the consumption expenditure was 12 crore and investment
expenditure was 8 crore. The government spent 10 crore on projects while the export
was 5 crore and import was 6 crore. So the GDP (Gross Domestic Product) would be
(1} 41 crore (2} 29 crore (3) 15 crore (4) 25 crore
47.  oiegdt anfuerr STl EEEte S TgGd S @ ?

(1) 9NN s

(2)  STeTd=dray Qe

(3) fadim geuimgd &
(4) U AT A2

Which of the following is net an artificial method of raising capital surplus ?
(I) Market borrowings

(2)  Collection of small savings

(3) Borrowings from financial institutions

(

4) Broadening tax coverage
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48. I TV WIEodD! B (UM ST 3R ?
(1) "EnmeRie g4 fosisn amd g9l Seesa 9ard ana 318,
(2)  HOHIA TETERA HA SR TR,
(3) S ICEE Hold A S,
(4) WS TENE AR IeaEhal AU S € WS Thie NiE R,
Which of the following statements is true regarding Maharashtra state ?
(1} Per hectare preductivity of ail foodgrain crops is the highest.
(2} Productivity of cotton is the highest.
(3)  Sugarcane productivity is low.
{4) Sugarcane is the only crop having higher productivity than national level.

49. WAGTH IR/ faumE/ T A AR/ 3 d ?
(a) g &% i 2fam i v samm S fmta
(b) =G dHEheA AW Yol we ffved S e,
(cy  STem o=t ot wnfi Waer arer Ywr Wear ffvd) fegiarar 9 ang,
vatd I
(1) () 3o () (2) T (b) (3)  (a) =0foT (b} (4) W (c)

Which of the following statements is/are incorrect ?

(@) Reserve Bank of India and Government are producers of the high-powered money.

(b)  The amount of high-powered money is fixed by commercial banks.

(¢} Theory of determination of money supply is based on the supply of and demand for

high-powerecl money.
Answer options :

(1) (o) and (¢) (2)  Only (b) (3)  (a) and (b) (4)  Only ()

50. TEHAE HET TRIv] WISOUET B FERIG HIET A5
(1) wede @rEridte fadm nerey g
(2) WiEde geREe fAEw g
(3) A S AT S
() wiege qranrls wrd fag' e

‘Mutual Fund can be classified in which of the following types ?

(1) Financial intermediaries in capital market

(2)  Development institutions in capital market

(3)  Commercial banks in the money market

(4)  Venture capital companies in the capital market
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51, WHSYH! Hvd faum aiET 3R ?

(4)

e T e Jarat amdl i e,
YA TR LT SIEiiTR I drde,
TETAT Yalleh AT (2002-2007) i Semearet gEel SRe drdl.

STATT A SR U ). AT HiesT SaryeiEn for s,

Which of the following statements is correct ?

1)
(2)
(3)

4)

Industrialisation in India has generated growth potential.
After globalization industrial output has increased.

The growth rate of industrial production rose signiticantly during the tenth plan
(2002-2007).

There is expansion of Indian large scale industries after globalization.

52. JfGHiET UG ToTad! Gevld Greredd! HIvHE faun seT 28 7

1)

FH} foremfaa Sudie qmifss sfis- e G aoragE e ave.
fafire &edie AUt Jo 9T .
(@) & (b) (2) ®I( () @9 (4) @9

Which of the following statements are correct regarding inflation in less developed
countries (LDC’s) ?

The socio-economic political structure of LDC’s decides the nature of inflation.
Infrastructural inadequacies create inflation.

Demand from specific sector creates inflation.

Expansion of money supply creates inflation.

(a) and (b) (2) (b)and (0 {3) () and (d} (4) (a) and (c)
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53. A YRl EetedE! gy 9 iela sEedd o,
(@) 49w
(b) & =X
(¢) TUSICIEATR FHeE
(dy FearrHdr gfwaan an

AT T T T
(1) (a), (b) &7 (c) (2)  (b), (c) T (d)
(3) (@), (c) T (d) (4)  (a). (b) 3000 (d)

Fertility in India depends on three important things :

(@) Marriage age of a woman

(b) Literacy rate

(c) Duration of fertile union

(d) Rapidity of building families

Choose the correct option :

(1) (@), (5 and () (2) (b}, (¢) and (d)
(3) (), () and (d) (4) (@), (b) and (d)

54. WOI@UR] TATA] Al HEYE HIURI 7
(1) SEHERA] FEIHAME TIrE] Fw©l,
(2) ST HS el
(3) Hudt ftr ieae FFENER TgH FTHRE 1.
(4) g TERRET g4 Fre

Which of the following is a part of state’s non-tax revenue ?
(1) State’s share in central taxes

(2}  Small savings of the public

(3) States taxes on capital and property transactions

(4)  Grants from the central government

oA HIHTETS 90T / SPACE FOR ROUGH WORK


Admin
Line

Admin
Line


A 27 KO4
55. woetw won/@ faam/ A e/ e ?
(a) 2012-13 =1 e TAGOTTIR Wefed &ame s [ o 2011 78 1.0% e,
(b)  2009-11 7 Fremad wafea &ardie Afeaiet Usr €& Ja=T™ 20.5% .
Tt I
(1} e (a) (2) W (b) (3) (a) = (b) (4) UHE TR
Which of the following statements is/are correct ?
(a) According to Economic Survey 2012-13, employment growth in the organised sector
has increased by 1.0 percent in 2011.
(b)  The share of women in organised sector employment was around 20.5 perceht during
2009-11.
Answer options :
(1) Only (a) (2} Only (b) (3) (a) and (b} (4) None of these
56. 2011-12 9 HHHIEHY SEHEE= 2 4% TR SR &

(a) 3= foaoTEde aEdl.

(b)y fTomind sfus e

(c) <= fogomeiay %4 gl

() femmsr wd e,

it 39T ;

(1) (2 R (2) @O ®) () (AP (@) () FR

For the year 2011-12, the unemployment rate, which ranges between 2 to 4% of the general
population is :

(a) Higher with higher education
(b)  Higher among women

(c) Lower with higher education
(d) Lower among women
Answer options :

(1) (a)only (2) (a) and (b) (3)  (c) and (d) (4} (d)only
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57. WSioUs! v /d fqum /A dre R/ eTRd ?
(a) <Ea Frjed sriwHm Y a1 3@ <Ng TS 0T 8 271
(b) WA WER T FN1 faww g ey et 37 g8 Fo.
‘Tﬂ'f'ﬁﬁ EH:T H
(1) T (a) (2) W (b) (3) () AT (b) (4) UHe A
Which of the following statements is/are correct ?

(a) The objective of poverty alleviation programme is generating incremental incomes
for the poor.

(b) The Government of India Jaunched the Rashtriya Krishi Vikas Yojana for the purpose
of poverty alleviation.

Answer options :
(1} Only (a) (2)  Only (b) (3) (a) and (b) (4) None of these

58. W NEHENIE A AL SV WewEl Heh % 3R
(1) I T F9Tde TRels ST A AT
(2) T WEE S WA
(3) Tofire oA <SR S99 A1 Sudle SUER Souel AmHie St
(@) fafsre s el 3ot snfor gatfues e Seum sreeem o LT o971 F1dta et

The most important determinant of the share of states in tax revenueis
(1)  Growth rate of per capita income over the last five years.
) Population density of the state.
(3) Difference between per capita income of a particular state and that of India.
)

Difference between per capita income of a particular state and that of a state with
the highest per capita income.

59, WIAGIHT FiVCA TehTH! SR, IeaTed of ToRTR Irdesiar STHaTE] el ¥ 2
(1) = S (2) FEdr SO
(3) T ST (4) olod®! BRI @

Which of the following types of unemployment may cccur when the output is at full
employment level ?

(1) Frictional unemployment (2)  Cyclical unemployment

{3) Structural unemployment {(4) None of the above
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60.

29 KO4

Tfden Aid (1991) GIG@HT S T9 9vid ‘sieT daeie e Fe et ?

(1) iaea IE o (2) VE-TEA IR

(3) i &= s (4) S Ao

Which of the following was described as “A tax on Banking System” by the Narsimham
Committee (1991) ?

(1) Statutory Liquidity Ratio (2} Cash Reserve Ratio

(3) Directed Credit Programme (4) Loan Mela

61.

62.

WIFEIE FVE /T T/ o TR/ emed ?

(a) g T TUIR ¥ 9 AT AT WIE o7,

(b) 9, hgAR! 2013 Wed IRa TEE ORI T 4.0% 3 FH F0S 2.

() 11 &AM 2012 Wel AU aan YA 30.0% HH F §H.

Tt I

(1) (a) Ao (b) (2) (b} & () (3) () 2T (c) 4) H (o)
Which of the following statements is/are correct ?

{a) Cash Reserve Ratio (CRR) in an effective instrument of credit control.

(b) CRR was reduced to 4.0 percent on February 9, 2013.

()  On August 11, 2012 statutary liquidity ratio was reduced to 30.0%.

Answer options :
() @and(®) (2 (Hand()  (3) @and() (4 Only(9)

e RAT T T the oTET WERTET WIHIG: Se0 el S,
(a) WTHEI A TATEL

(b) Trafda e amwr

(c) THEUHIS ek STavEol

(d) = FH IURHA

It I
1) (a) 37 (b) 2} (a) (b) T ()
(3)  (b) 3T (d) @) (), (o) 30 (d)

Maharashtra is commonly known as the economic powerhouse of India because of :
(a) BSE and NSE

(b) Large share in export

(¢}  Tnvestor friendly climate

(d) High agricultural productivity

Answer options :

1) (a) and (b) () (@), (b) and (0

(3) (b)and (d) @ (), (c) and (d)
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63. WAGIHE! v,/ faum/7 TEa e/ e ?
(a)  1950-51 9%4 ook WaT THU TAT STH0I THOT 36.2% BRI
(b)  1980-81 A faehry @A THW WA TG TANT 65.8% BN,
(c)  2007-08 W& fashre @Al ugpv wEwtes Eafelt Heom 79w 85.0% B,
ygE S
(1) (a) =1 (b) (2)  (b) & (o) (3) wH (o) (4) T (b)
Which of the following statements is/are correct ?

(@) In 1950-51, the ratio of the development expenditure to the total expenditure was
36.2 percent.

(b)  In 1980-81, the ratio of the development expenditure to the total expenditure was
65.8 percent.

(c) In 2007-08, the ratio of the development expenditure to the total public expenditure
was 85.0 percent.

Answer options :
(I} (a) and (b) (2) (b)and (c) (3) Only (c) (4) Only (b)

64. TiEn fTemmeula EEiets ®odt fGam 7/ 3 mRa ?
(a)  ATEH GURUTAGL IO SIREET e Fel.
(b)  oTfees Yumuriad Tt o wreen e,
() ool fomrdie AT T 2 e g T,
() it arfvee frdes Aemie T amie Sedrnar fauy 9w @t e
Fedw g faur/ faur fee
W (@), (b) 30 () @ (@), (b) A (d)
(3)  (b), () =AM (d) (4)  ale
Which of the following statements regarding poverty reduction are true ?
(a) Rural poverty has declined after reforms.

b

(by  There is stagnation in rural growth after reforms.
(c)  Rural poverty has not declined due to stagnation in rural growth.
(

d)  Rural social welfare has not been affected significantly by rural poverty eradication
schemes.

Choose the correct option :
(1Y (a), (b) and (c) (2} (a), (b} and (4d)
(3) (b}, (¢} and (d) (4)  All the above
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65. WIHE [GuM yRarer g 1 TRRRET 1o YaErHaH TR

(a) &7 MEYIHY FAHHROTY 3¢ A AT,

(b) HEHTERH! WRYD B WINHRA NESIIE 9T aed 3.

(c) O T L B FEWFEAAE! FA HEEE TF AL 3.

(d) FEHEREE G HeeAr R TEHe B wUS SEENd ISR feoe
ERICHEICE

Fo@dn! HI fayr @i red ?

(1) (a) & (b) (2)  (a), (b) 30 (c)

3) () (@ 3 () @) T

Following statements relate to the trends in revenues of central and state governments in

India :

(a) There has been all round increase in tax receipts.

(b) Revenues of central government are rising faster than those of state governments.
(c) Personal income tax is the most important single tax for the central government.
(

d)  Most important non-tax revenue for the central government is the interest on loans
granted by the centre to the states.

Which of the above statements are true ?
{1} {(a) and (b} (2} (a), (b) and (c)
(3)  (b), (c) and (d) (4) Al of the above

66. TS faumigl faar &1
(a) AT DHEHEA YRAMG ShaEue AfE o,
(by HAHHie YT G MRATAT TN de Aty e,

(¢) =T SRR o WhEl JuT YRaTen i o7,
T v faeer
(1) (a) Fad SO M. (2) (a) 3T (c) TR TS AR

(3) () STV (b) heRl =T 3R (4) =0 g ale .

Consider the following statements :

{a) Population of China is more than that of India.

(b)  Fertility rate in China is more than that in India.

(c} Percentage of children population in China is more than that in India.
Choose the correct options :

(1) (a) only is correct (2) (a) and (c} only are correct

(3} {a) and (b} only are correct (4) All of the above are correct
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67. TSHE TEHHST G0 2000 =1 FEHTER 2010 THd @@o T T Seae 99 a1
FUATE 3.
(a) 14 INTTET=AT q@i WA e Tiea anfor v w.
(by <, 9o, faarg amfuy TR e 4=l 80% Afguli Wres e,

Fiets! TR /dt faum/3 a8/ e ?
(1) W (a) (2) IR (a) 0 (b) (3) WwE(b) (4) AT AE

The National Population Policy, 2000 has suggested the following national

socio-demographic goals to be achieved by 2010 :

(a) Make school education up to the age of 14 free and compulsory.

(b)  Achieve 80 percent registration of births, deaths, marriages and pregnancies.

Which of the statement/s given above is/are correct 7

1)y only (a) (2)  both (a) and (b) (3) only(b) (4) mnone of these
68. TeI® faumien oo &

(a) TFSI @ AT 81 HHl Tl st g .

(by Tovrs e de fadel (da=ie F9 moma fa9vET 7ed Bie.

by r f:' . :

(1) (a) B "A AR (2)  (b) B HeA 3

(3)  (a) MW (b Wy aTEa (4)  (a) 3T (b) TR I

Consider the following statements :

(a)  Supply chain management is a critical issue in agricultural marketing.

(b)  FDIin retail can help improving marketing of agriculture produce.

Choose the correct option :

(1) (a) only is true (2) (D) only s true

(3) Both (a) and (b) are true (4) Both (a) and (b) are false

69. WA FYHOET A9 W 2fEn’ 1E (arge aewmed ) kW HTond T ween s ?
(1) e

(2) e

(3) e FHifedt ofz SfEfoms v

(4) TS Wi TEES

Which of the following rational institutes works for ‘future trading’ of agriculture
commodities in India ?

(1) NAFED

(2) NABARD

(3} National Commodity and Derivaties Exchange
(4) Natignal Stock Exchange
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70. Gl fgum faemm =i
(a) FATT G WeER 2005 HE sifayfaa e s,
(b) LT TR SFIEN FIOMRT TG B Aol Tl S o
(c}  TAUTS VrEA fedt Aol 9% wad TG W RO (S0 S
et B/ faum/A S0eT AR/ a2
(1) (a) 37T (b) (2)  (b) A () (3) (@), (0) () (4) R (b)
Consider the following statements :
(a) MGNREGA was notified in September 2005.
(b} The Gram Panchayat is the important implemention agency of MGNREGA.
(c) The payment of MGNREGA beneficiaries is by cash only.

Which of the statements given above is/are correct ?

(1) (a) and (b) (2) (b} and (¢} (3) (&) (b)and () (4) only(b)

@ YEHIHRY] SATGR A0 SRl FIRESI Wts fa6m fo=m =i
(a) 1947 H%A 23 SAT e FUTE TR hedl,
(b) 9WAE 1994 ALl s gyed e,
{¢) 1994 WA 118 79 Tew HHIET dId,
ST HIOE/d T e/ amea ?
(1) (a) 3T (b} (2)  (a) A (c) (3)  (b) T (c) (4) w9 (b)
Consider the following statements about General Agreement on Tariff and Trade (GATT) :
(a) GATT was signed by 23 countries in 1947.
(b) India got the membership of GATT in 1994.

{c) In 1994, 118 countiries were members of GATT.

Which cf the statements given above is/are correct ?

(1) (a) and (b} (2) {(a)and () (3) (b} and (c) (4} only (b)
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RIe g faumits] :R @v o ?

(a) SaHIET fFUd W YA AN Fie YeasTd Saedl,

(b) TR A= fwAd RO aedd e F9@ 1971-72 @% |igA.

it 3w

(1) %9 (a) (2) D (b) (3) HIvCE] @ (4) <=

- Which of the following two statements is correct ?

(a) DPrices of agricultural comnmodities actually declined during the first five year plan.
(b)  There after Prices of agricultural commodities increased continuously except during

1971-72.

Answer options :

(1) only (a) (2) only (b) (3) Neither (4) Both
73. WA 'SR Yl E Hehed el I W STl ATEIST Aegl FHIER ka1 ?

(1)  Fu "o frafdme @ Fo=t Ho iR

(2) 3 ghEm ErETERE

(3) e iy vren fAfi & Fratdtand)

(4) I I B e

In which sector in India, has contract farming been used the most ?

(1) For contracts of agro produce exports by private companies

(2)  For food processing industries

(3) Production of Fruits and vegetables and export

{4} For flower exports in international market
74. Td foen st _ IS §E #0319,

(a) wafie faremoma dEEER

(b) TEon fefors Mer= gftgdl aw favm v SrarEE

gy g e

(1) (a) K U 3R (2)  (b) d ST S

(3) (a) S (b) IR SR ST (4)  (a) AU (b) T=N T SIed
Sarva Shiksha Abhiyan (SSA) was started for :

(a) Universalization of primary education.

(b) Has special focus on educational needs of girls.

Choose the correct option.

(1) (a) only is correct (2)  (b) only is correct

(3) (a) and (b) are correct (4) (a) and (b) are incorrect
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75. AR VA WIS G HIET THE Bl ?
() EfTEIRE fhma
(b) Tt
() IR TEEn
(d) TEsSH ARHEEN Lo

Wﬁﬂ' E?ﬁ‘ :
(1) (a) (0T (b) T (2)  (b) I (c) Herd
(3)  (a), (b) 3 (c) e (4) = wd

Which of the following are included in contract farming ?
(a) Pre-agreed price

(b) Pre-agreed quality

(c) Pre-agreed quantity

(d) Supply of selected inputs

Answer aptions :

(1) (a) and (b) only (2} (b) and (c) only
(3) (a), (b) and {c) only {4) All of the above

76. UEI® SH faumiist FIv@ @Y AR ?
(@) 2011-12 1 FEEHE TRAHS Fovd W TE 87 0.32 T Y9 2,
(b) O ST SN SESSH T AR T Fw, FAH I T,
TR'I'Y"'J"T ET'ﬁ' H
(1) ¥ (a) @) ¥ () () IR @) I
Which of the following two statements is correct ?
(a) During 2011-12 floriculture covered an area of 0.32 million hectares in India.
(b) The leading flower growing states are West Bengal, Karnataka and Maharashtra.

Answer options :

(1) Only (a) (2) Only (b) (3) Neither (4) Both
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77. <O ANF fapEE W AEAE A daodd Sl
(a) fareror sufer gaier
(b) wigaw snor TwfitE W
(c) SNdUS =9I o el
(d) i nfn T
watdr 39 ;
1 @ (2) (o) M (b)
(3)  (a), (b) 3T (c) 4)  (a), (b), (o) =nfor(d)

The economic growth of a country mainly depends on __

(a) Education and Research

(b} Capital and natural resources

{c) International trade and peace

(d) Agriculture and irrigation

Answer options :

1) (@) (2) (@) and (b)

(3) (), (b) and (¢) @) (@), (), ©) and ()

78, UESTSUH! vl faem SO@ET 37med ?
(a) doet® ae fag Sedte fere! o+ wigar
(by @ fagia g9 9 qigae g I e iea Hidl
(c) % Tagia qof Tormr Tfed axl.

it 39 ;
(1) (a) T (b) WK (2)  (b) ST (c) TeKd
(3) (a)} I (c) T (4) =owd

Which of the following are correct ?

(a) Comparative cost theory was formulated by David Ricardo

(b) This theory assumes labour and capital as factors of production
(c)  This theory assumes existence of full employment

Answer options :

(1) {(a)and (b) only (2) (b} and (c) only

{3) (a) and (c} only (4) Al of the above
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79. OIHHET a9 U WRAW AR 2016 T4 ShEE e yed Wete ged ey 3Ee.

(@) T PHEEA doc w41 B,

(b) SURF TANCMHS FFAEA a6 LS.

(c) = Tt YRS A1 S T B

(d) TH-TEY TONRR T A Hge TR0,

Flys! Hom /@ faur/3 T e/ 3 ?

(1) TR (a) (2) = (b) @) @aE @ ()=

Population experts refer to the possible ‘“demographic bonus’ that may accrue to India

around 2016 A.D. They are referring to the following phenonmenon :

{(a) a sharp drop in the total population.

(b) a surge in the population in the productive age group.

(c) a decline in the both birth and death rates.

(d) a well-balanced sex ratio.

Which of the statement/s given above is/are correct ?

(1) only (a) (2) only (b) (3) (a) and (b) 4) () and (d)
80. WRAKID HH ICEH Tl I HATTHR ST FHAN 3T 37,

(1) TERTE, IW YW, dIfHaTg, Ay T
(2) I U, HERTE, WMASG, AU F3¥1
(3) WERE, W T, Y W, qffeTg
(4) I YR, FERIE, Y TV, WiHoTg

The correct sequence in descending order of the sugarcane producing states in India is :
(1) Maharashtra, Uttar Pradesh, Tamil Nadu, Andhra Pradesh
(2) Uttar Pradesh, Maharashtra, Tamil Nadu, Andhra Pradesh
(3) Maharashtra, Uttar Pradesh, Andhra Pradesh, Tamil Nadu
(4) Uttar Pradesh, Maharashtra, Andhra Pradesh, Tamil Nadu
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81. TVl TTEAMIR S, LS. Fego ho™ AT WiEraysht Fivedr YanmmeR yT fae o ?
(1) wfedt a3 gfoae (2) (u@dh.) T yiaw
(3) = Wi : (4) et giaae
Which of the following models has been emphasized by Dr. A.P.]J. Abdul Kalam for rural
upliftment ?
(1) 1CT Model (2) LPG Model

(3) PURA (4) Gandhian Model

82. TEI® 2 faumHidest SIvrd @Y TR ?
(a) Ty WU FOEATE TR e AT G, ¢ U9 A TR,
(b) ST waifesh ST e 9w, el & ik,
wafdt 3ot
(1) %% (a) (2) s (b) (@) FRATE (@) F@
Which of the following two statements is correct ?

{a) The leading vegetables growing states are West Bengal, Uttar Pradesh and
Maharashtra.

(b} The most grown vegetables are potato, tomato and onion.

Answer options :
(1)  Only (a) (2)  Only (b) (3) Neither (4) Both

83. SIfde SAIR HeeAAdld Fu Hewldlo Fu= sge _ # €
(1) o & sTeRfye agfqa
(2) TS LAY redTe 20
(3) W frafd =T 3
(4) SR} AR

Agreement on Agriculture under WTO had an objective of .

(1) Increasing market orientation in Agriculture

(2)  Promoting subsidies for agriculture
(3)  Encouragement for agriculture export
(4) None of these
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84. THITUH! KTl FeBEA [TUHERET TERIERIG Jahl qFEH TEmer Fehil foave Segh
Fesfash! Ha ?

(a) 3T (b) Slied (c) =&l (dy f==

(1) (@), () (d) 2 @ @ @ (3) (@) () () 4)  ®) (@ (d)

Which of the following fruits are marketed on partnership basis by the farmers in
Maharashtra through co-operative agencies ?

(a) Mango (b) Pomegranate (c) Grapes (d) Chikoo
Choose the correct option :

(1) (a), (b), (d) (2) (@) (@) (d) (@) (@, ®)(© 4) (b () (d)

85. AT qIREY FEwiEM HismT T freurean sman e 9
(1) <& A, SRR s J=
(2) I, IOV T ST TEUTHAT g
(3) <IH ey, IE snion TEoiEETE g
(4) ST, TEOIHTATAT ST S SN SEwen

Human Poverty Index is measured on the basis of following criteria :
(1) Longevity, Nutrition and Knowledge

(2} Knowledge, Basic needs and Standard of Living

(3) Longevity, Knowledge and Standard of Living

(4) Longevity, Standard of Living and Sanitation Health Facilities
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86. Ty T famm FREFW Ahd Hrdl fawmEr G e faww FREETER 59 9m. 9
3R -
(a) wMd! fasm Frdwie
(b) T e Fdaie
(c) o faem fews
(d) fen oot fawma frdoie

JUGUHRT AU/ T TaE G/ IR/ 3R 7
(1) & () (2) W (d)
(3) (o) F(d) (4) aous! Ul A

United Nations Development Programme measures human development by human
development Indices. They are :

(a) Human Development Index

(b)  Human Poverty Index

(¢} Gross Development Index

{d) Gender - related Development Index

Which of the options given above is/are incorrect ?

{1) only (c) {2) only (d)

(3) (¢} and {d) (4) None of the above

87. W gy faanm =i
(ay Towgeie st sfawfga Swses Od6 wo 0t ot SeeAre e S

Hald ST AT YR YA TR,
(b) afther v FN Fafddet 85% FHT 7o FMET FREh T Hdal Al
Flods! SR/t faur/A SUaT o/ o ?
(1) ™ (a) (2) TR (a) T (b)
(3} W (b) (4) e T

Consider the following statements :

(a) The European Union (EU) is the world’s largest importer of agricultural goods and
farm products from the developing and least developed countries.

(b) The EU absorbs around 85% of Africa’s agricultural exports.
Which of the statements given above is/are correct ?

(1) only (a) (2) both (a) and (b)

(3) only (b) (4)  None of these
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wete faum e = o g sawE] Hog w4

(a) 9IRE B SIS Hald HieT (a3 I 3T

(b)  HRd 31 ST el SeqEATeAT 1/3 SeAe hldl.

T I

(1) e (a) T TR (2) W (b) TR TR

(3)  (a) SNV (b) Y =T AT (4)  (a) foham (b) =t srUR AT
Consider the following statements and select the correct answer :

(a) India is the largest manufacturer of tractors in the world.

{b) India is producing one third of the global production of tractors.
Answer options :

{1} Only (a) is correct (2)  Only (b) is correct

{3} Both {a} and (b) are correct (4) Neither (a) nor (b) is correct

A @ 2Wiaa SR HeHi wrete fayvm fa=ma =t

(a) 1990 74 TG W@ RMTIa Scaera Heahoo T fomfad Fwam e,

(b) WIS HeAER qROMH IR ygEm et AGfitE weE wnptEt w6 fond fFEa @
T =T e Tl

(c) H 2000 YA ST TR T@ WA SARAT HISTHGT TE F1.

FUBIH! I/ a4/ a0/ 3Ra ?

(1) (a) 37 () (2) (o) 3 (c) (3) (a) 30 {b) (4) ®H ()

Consider the following statements about green GDP :

{a) The concept of Green GDP was evolved in the 1990.

{by It attempts to factor in the cost of depleted natural resource and pollution which
ultimately affecl human welfare,

(c) China has started calculating its Green GDP from 2000.

Which of the statements given above is/are correct ?
(1) (a) and (c) (2) (b} and (c} (3) (a)and (b) (4) only (c)

" ST Foedrdl’ WS 1Y 7
(1) wErEe e enfir fiveads ARt 3aes Jeam.
(2) iiE anfo WS U 97w e ey da.

(3) Riveode wara e Jea.

(4) i wmne I areau).

What do you mean by ‘Ornamental Fish Farming’ ?

(1) Toincrease the production of seashells and pearls
2} To keep colourful and fancy fish in aquarium

(
(3) To increase the production of animals in seashells
{4)  To increase the production of colourful fish.
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91. T fa AaTEd @ele Y e =
(a) T Tam FeHE Hean! 2006 T8 Tq feet A9
(b)  2006-07 98 HYUi qudte Fae® 200 Fegm wrifms aamer € dem g8 @
Fl@Um! B /T faem=/ 7 SRT M/ 371 7
(1) %o (b) (2) (@)@ (b (3) TEH (a) (4) U
Consider the following statements about livestock Insurance Scheme

{(a) Livestock Insurance Scheme was approved in February 2006.

{b) In 2006-07 it was introduced on a pilot basis in 200 selected districts across the
country.

Which of the statements given above is/are correct ?
(1) only (b (2) (a) and (b} (3) only (a) {4) None of these

92, HdeT =N TEHHIGT Wideus! Hv fFa foad 990 e 2

(a) TESTE YN @H

(b) YR STEH Hed

(c) fafay Teindie s faam

(d) I Tac!

TieiH! gy IR Fae

(1) (b) & (o) (2)  (b) =P (d) (3) (o) O (d) (4) (2 S0 (q)
Which of the following parameters can be considered in the relative poverty approach ?
( per capita consumption expenditure.

( value of nutritional diet.

(¢) income distribution of different groups.

(d) income level

Find out the correct answer :

(1) (b) and () (2)  (b)and (d) (3)  (c) and (d) @) (a) and (d)
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93. W (SAPTA) %V %1 7
(1) ¥ T SR sae fovas I,
(2) <few sy T AR WU SR favas H.
(3) =feror anfvrang =R foavees w3
(4) | T Yo =ATR fawaew FI,
What is SAPTA ?
(1) Agreement on SAARC preferential trading arrangement
(2) Agreement on South Asian preferential trading arrangement

(3) Agreement on South Asian Trading Association
(4) Agreement on Free trade of SAARC Association

94, favit Wigaem=n yawmeR =1 FROTH 2kl ol .
(a) TG HTFA THE
(b) WHTRIT &S [adue®

Wﬂﬁﬁ I
(1) (a) & (2) (b))
(3)  (a) 3N (b) A= (4) (a) M7 (b) = ~MrE

Entry of foreign capital is criticised on account of

(a) Domination by multinationals

(b) Investment in non-priority areas

Answer options :

(1) () only (2)  (v) only

(3) (a) and (b} both (4)  Neither (a) nor (b)

95. WIOGUH! HIE TR AR & TE G A1Ed ?
(1) g7 favrrd snftr Icrmte are.
(2) 79 fourml et Tteie.
(3) = faurft sy fasteiem,
@) s Tyl anfor dm el S,

Which of the following are two basic advantages of international trade ?
(1) Division of labour and increase in income

(2} Division of labour and mobility

{3) Division of labour and specialisation

(4) Division of labour and give and take of technology.
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Tee <A fayritEt Sive @Y 8

(a) TN o9 2010-11 WL TGS FHH ¥R 1.44 €. €.

(b) TaTd Ifu® THhar SrETE FUEY THIT UROT 20 7. F Afew g,
giEt 39

(1) e (a) (2) S (b)

(3) = R (4) (a)d (b) THE

Which of the following two statements is correct ?

(a) During the year 2010-11 in Maharashtra the average size of land holding was
1.44 Ha.

(b} The largest percentage of people had average size of land holding of 20 ha. and
more.

Answer options :

(1) Only (a) (2) Only (b)
(3) Neither (a) nor (b) (4) Both (a) and (b)
97. WS A TAUMITHT HIv WY 3G ?

(a) VAT e Horel TH T fHese Svaren Seey 789 TRarel SiTedl Yaral A Sl
TOrd frasg SUares it TeRe WEA Yiashi SToiRre! 1T e,

(b) o vgdET fosht HisHaT TYYIMEl AT ot Y T AR ¢ uag I
'q-qhﬁ E?ﬁl‘ .

(1) F¥e (a) (2) & (D)

(3) =T T @) (a)d (b) TEE

Which one of the following two statements is correct ?

(a)  To help farmers to get reasonable rates for their produce and consumers to get good
quality produce at reasonably lower prices the Govt. of Maharashtra has set-up
Shetkari Bazar.

(b) This type of marketing has been tried in Andhra Pradesh where it is known as
“Raitu Bazar”.

Answer options :
(1}  Only (a) {2) Only (b)
(3) Neither (a) nor (b) (4) Both (a) and (b)
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98. 375 WTOTIR HHI=AT (1958) HEATGER TSHTHNUNY 719 ®ic Sqoedl e gfared
Fols 4 U WA= TR 3T,
(1) 2425 : 60 (2) 2400 : 55 (3) 2300 : 62 (4) 2800 : 65

The report of food advisory committee (1958) states that in India a normal working adult
requires calories and grams of proteins daily.

(1) 2425 : 60 (2) 2400 : 55 (3) 2300 : 62 (4) 2800 : 65

99, faufeg = dioM 3fatd TS ST HIE] &3S <01 6 [go W 2

(1) 2= (2) 4T (3) 63Fh (4) 7%F%

At what rate of interest loan is disbursed to poor farmers under differential rate of interest

scheme ?

(1) 2 percent (2) 4 percent (3) 6 percent (4) 7 percent
100. Fwd= s el w4 I #, 1 fHIum qvar AHHTAE 1° ATHH AGUATH

ST Sl

(1) 15° dfeaarg (2) 20 dfewe™

(3) 25 afewsrg (4) B! RIVEE AR

“Calorie” is the amount of heat needed to raise the temperature of 1 kilogram of water by

1 degree at

(1) 15° celsius (2) 20° celsius

(3) 25° celsius (4) None of the above

101. TAFA ST M wiadt e R qedr=a R HeMe Sade wors Tae fhudrer
fordt eaeh R sl FBU AN A ?
(1) 557 60% (2) 657 70% (3) 751 80% (4) 957 100%

At what extent of the present value of the stored produce, Nationalized banks sanction
credit against the security of warehouse receipt ?

(1) 55 to 60% (2) 65 to 70% (3) 75 to 80% (4) 95 to 100%
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102, RAERET faeaTeiie Sumea TNde TRy SEia=aT 20 79 48l &4 9IoF 2@, Wy
FIIY TreERTe THT WU % dIoh RG] aTed

(1) 35 (2) 40 3) 45 4) 50

India, a developing country accounts for less than 20 percent of world’s child population,
but it has _ percent of mal-nourished children.

1) 35 (2) 40 (3) 45 4) 50

103. &g METEH () T (b)) TAHHRU-AEHB (¢) THSS @R A1 fqswig=t ¥9 2013-14
qiet feam 3nuRYd fHadl T Taedl WiifEt den.

(@ (b) (o)
(1) 1500 1310 1250
(2) 1250 1310 1500
(3) 1310 1250 1500
4) 1310 1500 3250

Central Government has announced the minimum support prices for (a) Bajra
(b) Common TPaddy (c) Hybrid Jowar in the year 2013-14 as Rs.

(a) (b} (c}
(1) 1500 1310 1250
(2) 1250 1310 1500
(3) 1310 1250 1500

(4) 1310 1500 1250
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104, YRA HIFR N A=l (Y= fFam Sranyd fhad (TH.0E.9.) F8g1 ST el e ?

(1)
(2)
(3)
(4)

forsmi=it el gearaer
frert=lt 1IN FRIHT TE Ay
FERTE! SR FS STand

When minimum support prices (MSP} for important agricultural crops are announced by
the government of India ?

(1)
(2)
(3)
(4)

Just after the sowing of crops
After the start of the harvesting of crops
Before the start of the sowing season of crop

They are announced any time

105. J&© *IUd faum smEmg o ?

It Ieae fa A FHAR 2004 HE GE FA0A1G ST

W=t €1 foe e fam weemon safn sfdfa wean gife,

H 9% THEH AT I T B HE AW faerd Sae S,
TG AFAA T T SvAh ] FAHe <.

Which of the following statements is incorrect ?

(1)

Farm Income Insurance Scheme was inaugurated in January 2004,
It provides insurance safeguards and economic security to farmers.
It covers loss in agricultural income only due to adverse natural calamities

Govt. also provides subsidy to the farmers in premium payment.
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(a) IERH i) < 7% TFO gfafedt St
(b) Wfeq (i)  $20-35% UFW glafeAt Hode=n
(¢} ®eH fiity 56 gms
(d) Hieg dey {iv) 130 gms
REIRIES T
a (b)) (o (d)
(@ ) () (i)
Oy @) G ) G
() vy @) @ @)
@) () v) () ()
As per the requirement of men match the following :
fa) Carbohvdrates (i) <7% of total daily calories
(b}  Proteins (i)  $20-35% of total daily calories
(c) Fats (iif)y 56 grams
{d) Saturated Fats {(iv) 130 grams

48

Answer options :

(1)
(2)
3)
(4)

@ () © @
0 @ G G
0 @ Gv) (i)
(v) @i G G

(i (v) @ ()
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107. o g9 faumits! IR a5 o8 ?
(a) UfEen Fa WRATHE] |9 1914 R+ 30 .
(b)  HE Iae ATTESIA 1940 1 UM I TG JoFd Fdes FHH [Ahod F0aE

AT FE.
TR IRy
(1) 92 (a) (2) FIS (b)
@) T (@)adT () (4) (a) @ (b)

Which of the following two statements is correct ?
(a) The first tractor in India was brought in 1914.

(b} The central tractor organisation imported high horse-power tractor in the 1940s
only for land development.

Answer options : '
(1) _Only (a) (2)  Only (b)
(3} Neither (a) nor (b) (4) Both (a) and (b)

108. Y&T® v faum Eig o1 ?

(1) Wea= Ao A § Sdie gaityE Wed Gee SRR AU Al IRE @t 12 S

(2) 12 oHENE AfuF wWesl/3. 5T, SR A1 A9 Rt AR .
(3) RGN YUY WA HISH A1 ieadned 1925 Hed ["fadl 1.

(4) 1980 <A1 THEHT WEHH SAfARE ToRd 3 9 AHEIg a1 WAl AT SIoH G 916
O Bl
Which of the following statements is incorrect ?

(1) The Mid Day Meal is the worlds largest school feeding programme reaching out to
12 crore students.

(2) More than 12 lakh schools/EGS centres are covered under the programme across
the country.

(3) InIndia a Mid Day Meal Programme was introduced in Pondicherry in 1925.

(4) In 1980s Gujarat, Kerala and Tamil Nadu along with Pondicherry had begun on
Mid Day Meal Programme.
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109. 1951 w8l wfuden wd, Iiale 50 IFE YaET SEEwEd S90S orrd
&,
(1) w2 T (2) Tiods ™
(3) WX forvervara (4) Bl WY dgoRL
According to . Committee in 1951, 90 percent of Indian farmers were taking
loan from pvt. money-lenders.
(1) AD. Gorawala (2) Nilkanth Rath
(3) Sir Visveshvarayya (4) Dr. Ramesh Tendulkar

110. T&i® H faumita! wiva 9rg g ?
(a) A HrowR Reed W yran fatass wertad e .
(b) UL FgrEm AT gAU IS HHGE 20 T 2005 - 06 THR TR 62% SFHE

Fiforer oTR.
T I
(1) 9= (a) (2) F9 (b) (3) <= AR (4) =Rl

Which of the following two statements is correct ?
(a) National Advisory Council proposed National Food Security Bill.

(b)  About 62% of our population is undernourished as per the National Family Health
Survey 2005-2006.

Answer options :
(1) Only (a) (2} Only (b) (3) Neither (4) Both

111, 5 f$3e wenmgd sAfa 9 ?
(1)  BrEsE JaT S STHeed] g
(2) GE 9 R arr defsaiueg
(3) HEhHITTS THIN ARG ATeeA TerieyA
(4) Ve RS gewfen R gfRdga
What is the bio-diesel prepared from ?
(1)  Sugar enriched substances
{2)  Edible and non-edible oil seeds

(37 Alcohel enriched substances

(4) Wastage material fermentation from farm
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112, SR 3 fwontg awqum swoer vaft 2 Mey/ e @1 Jon TaHH 8 @ et Tias S0 fad ?
1) 6vI 2) 5% (@) 3%@ (4) 2%
If a bird of 3 kg mass is moving with a speed 2 m/s, then its kinetic energy is :

(1) 6 joule (2} 5 joule (3) 3 joule (4) 2 joule

113. i i geheamed SN e faweH e 7 7

(1) =g T (2) e o

(3)  TodH WO (4) e Fafide

In thermal reactors nuclear fissions are due to ?

(1) absorption of neutrons (2) absorption of protons
{3) absorption of electrons {4) emission of protons

114. TR HATT IUUT HIRAT H&T YU FLaW ?

(1) R A et (2) oferpdt o forgaqta

(3) =GR o fagagd (4) fETFdl 7 et

In which orbit does the remote sensing satellite revolve ?

(1) circular and polar (2) elliptical and equatorial
(3) circular and equatorial (4) elliptical and polar

115. T& 09 wgeifg9e 3eid 90 shea™ fad! Sl s ?

(1) 3x10¥%sge (2) 9x100sge  (3) 3x1W0BSHge (@) 9Ix1WVB g
How much energy can be obtained by converting 1 gm plutonium into energy ?

(1) 3x10joule (2) 9%x10¥0joule (3) 3x103joule (4) 9x10" joule
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116. 308 [H¥FET 7R IS8T GUATH, FEEFOE sufn 1@ (TTC) Waramist & iy

AT fauiur Fe,

e A1 LA GLTTC) S et famm s amRa ?

(a) ATER (b) TS () WE®BRAT  (d) ¢y
watd 3y

(1) ®F (a) 3 () (2) B {a), (c) A (d)

(3) R (a), (b) A0 () (4) () (b), (o), (d) =

ISRO established a network of ground stations to provide Telemetry, Tracking and
Command (TTC) support to satellite mission,

Which are the locations of these TTC ground stations of ISRO ?

{a) Bangaiore {(b)  Lucknow {c) Port Blair Island (d) Mauritius
Answer options ;

(1Y Oniv (a) and (c) (2} Only (a), {c) and (d)

(3 Onhy (1), (D) and () {4y Al the four (aj}, (b), (c), (d)

117. WWEIA 7 70 WA ($e) SAERTGR STAMTI WRsterishl Al S e A 7
(1) &M Hrd
(2}  FHAN
(3}~ Fe=TE gerd Friem
(4)  HATRIVEMI THRW

Whatameng the following is not incJuded in Indian National Satellite Technologies (INSAT)

practical applications ?

(1Y Weather forecasting

(2)  Telecomumunication

(3} Obeervations of forest occupied territory
(4} Broadeasting through air
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118. T ST TSR uiE SR 3R TR U-235, Pu-239 200 U-233 219 fa= faessism

a—wnﬁéﬂ“ﬁmﬂﬁmmﬁwaﬂﬁa
(1) Yy (2) Fm (3) FouFEH (4) TS

_______ s the only place in the world where all the three fissile isotopes viz., U-235,
Pu-239 and U-233 are used as {uel in reactors :

(1) Tarapur (2) Kaiga (3) Kalpakkam (4) Rajasthan

119, . @&t vRa-% =Y 39ug faeeE se (ARGOS) i sfafest (ALTIKA)
TEId IR TT7 (SARAL) 3TE,

(a) TR 27T (b) GRITE SFvI™
{c) HUW (grEAN) (d) wHw

TR I

(1) % (a) S () (2)  FAH (a) 3 {b)
(3) T (a) (4) wd

The satellite with ARGOS and ALTIKA (SARAL) is a joint Tndo-French satellite miission

for
(a) Oceanographic studies (b;  Astronomy studies
(c)  Telecommunication (&} Broadcasting

Answer options :
(1} Only (a) and (¢} (2} Only (a) and (b)

(3)  Oniv (1) @ Al
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120. TEfagd SvAEE! FoT FEeEE AW (BEE) TUE Ul sTfn Sele oEvar A ge

o, 344N TiEE § BEE AR 99 e TnieH #drd.

I AH] Gelciel, SN Area! Syaad g ?

(a) T A THYI

(b) ‘i Frafes wers @ arafast gios fa

(c) ot sl my

(d) d13.3. (BEE) ¥fd% o=

T I

(1) = (a), () 3 (d) (2) Kt (a) 3T (c)

(3) WH (a), (b) AT () (4)  {a), (b), (¢) o (d) (weh)

(BEE) Bureau of Energy Efficiency launched a standards and labelling program for home
electronic appliances. The BEE star label guides consumers while buying an appliance.

Which information is indicated on this star label ?

(a) Energy star rating

(b) Energy saved is money saved logo

(¢) Annual energy consumption

(d) BEElogo

Answer options :

(1} Only (a), (c) and (d) (2)  Only (a) and (c)

(3)  Only (a), (b} and (c) ) (a), (b), () and (d) (all)

121, 9Rard f5aa ST SIE T @ W S HYdd YoM SHRUET oS! 7

(1) 1960 H¥ YT FEHT Tehed
(2) 1950 9% YRI-THFH FHeT

(3) 1960 ued g-fgy THeq

(4) 1950 7 yra- N gehed

Cirus is India’s second research reactor built as a joint project in :
(1) Indo - Canadian Project in 1960

(2} Indo - France Project in 1950

(3} Indo - Swiss Project in 1960
(4)  Indo - Russia Project in 1950

el HIEEE W00 / SPACE FOR ROUGH WORK


Admin
Line

Admin
Line


A 55 KO4

122. FERfwe FE-93-f2ed (CTET) 2 duar g &3 gedfiat Fo0 Fe! ey THR
WyvarEd] THiean e, § 9ud &7 Sddiy ygivh yiehd sTee AR, Ul Jae /e
WO 0T ?

(a) YEOfaTaEE awvt/ e (b) SEEATgTaE (FTERTREIR) T
(¢) At (FFFWRES) TR (d) AvhEiera TRToeEm e

W'&l'['d? 37‘%: H

(1) (a), (b) ST (c) (2) W (a), (b) ¥ (d)

(3) HH (b), (c) I (d) (4) ud =rgEl

The verification regime of the comprehensive Nuclear - Test - Ban - Treaty (CTBT) is
designed to detect any nuclear explosion conducted on the earth. This verification regime
consists of International monitoring systems. Which are these monitoring systems ?

{a) Seismic monitoring {(b) Hydroacoustic monitoring
() Infrasound monitoring (d) Radionuclide monitoring
Answer options :

(1) Only (a), (b) and (c) (2) Only (a), (b} and (d)

(3) Only (b}, {c) and (d) (4)  All the four

123. it iyt @ il de@ &0 3wrRed IEE 7

(1) i, e (2) R, sy
(3) Sy, wEwrg (4) Taesdt, o
The second nuclear fuel reprocessing complex is to come up in :
(1) Kota, Rajasthan (2) Hyderabad, Andhra Pradesh
(3) Jaitapur, Maharashtra {4y Virdhi, Gujarat
124, 7= verten g euyrmanet 7 fanvoni=n B =u[ &4 J79Te S 7
(1) = - 60 & SFAHMH - 74 (2) diegd - 201 9 sifsaH - 192
(3) HlEwe- 60 9 diagm - 137 (4) 3hfeTm - 192 9 df|aw - 137

What is used as a source of gamuma ravs for food irradiation ?
(1) Cobalt - 60 and Arsenic - 74 (2)  Talium - 201 and Iridium - 192
(3) Cobalt - 60 and Cestum - 137 (4)  Iridium - 192 and Cesium - 137
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125. anfiae Is faum anfn G Fends (9 e Al draoms 9gao FAE 9= sfas
Frvdl IV TEEH S ?
(1) 153184 1974 ) 119134 1974

(3) 119 13 9 1998 (4) 15918 9 1998

The department of atomic energy and defence research and development organization
conducted a series of tive nuclear tests in Pokharan on :

(1) 15% and 18" May 1974 (2) 11" and 13 May 1974
(3)  11™and 13" May 1998 (4) 15" and 18™ May 1998

126. < WiwedsH Topd SRR foedy shon snfor ®aet wimm wi=n fftifdaret aram = a9
TR U,

(1) = SRiw aTifor gig g
(2) 309 fogmw anf Wil fegan
(3) EfEm anfA amtn T 9w
(4) 7= RFem afer Aige fruz

The software packages which are normally used for creation of bit map images and creation
of vector images are called as _ respectively.

(1)  Paint programs and Drawing Programs

(2)  Image Viewer and Photo Viewer

(3) Drawing Programs and Paint Programs
)

(4 Image Creator and Model Creator

127. HHicd A TH W <M fohal S H0Th Hefyd S0 Seal @l TRV,
(1) e (2) =@ (3) ®ENe (4) TR

A group of parallel lines that connect two or more computer related devices is called as

(1) Network {(2)  Dus (3} Bound (4) Bundle
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128, SL.UH.TH. (OEe faRT i HeEe FEAEYA) Faod TaamaR i g
(1) FZwaw (A fefesm wlvers wwm)
2) TaRwmu (s fefagem ofete W)
(3) wmETAL (feey fefee wfere wm)
(4) wio @
GSM (Global Systern for Mobile Communication) is based on which technology :
(1) TDMA (Time Division Multiple Access)
(2)  CDMA (Code Division Multiple Access)
(3) SDMA (System Division Multiple Access)
(4)  All the above

129. wIfgdt T FEET 2000 TR ST F0 SolEges fhay Seerges WvERE GEm/ AfgdEed
HIRR FHI, T HT fhar A e Svitaqes /SRRa s gaaral ¢ HIvar i qrEdl, S &
T TRIA / Wifed! FTAemTa at SRl aTRIE aTE dred sy e 377, A9 o4a Qoo
e s e g ?

(1) T et geTeE

(2) < auiTds g e 2 eradTn €8 Fa <

(3) W FuiYdd qETa fhar 3 SRgTTefaen <€ faher S

(4) U Iudd TETE fHe oo BSR Sqadaen g€ fohar gl

Under Information Technology Act 2000, whoever knowingly or intentiorally conceals,
destroys or alters or intentionally or knowingly causes another to conceal, destroy or alter

any computer source code, when the computer source code is required to be kept or
maintained by law for the time being in force, shall be punishable with _

(1)  Imprisonment of 5 years

(2)  Imprisonment upto 3 vears or with a fine which may extend upto 2 lakh rupees or
both

{3) Imprisonment upto 2 years or with a fine which may extend upto 3 lakh rupees or
both

(4) Imprisonment upto 1 year or a fine which may extend upto 50,000 rupees or both
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130. TR S S 9RE The § ST TEAAT Meswe Wa I S % UaE wediiee
TEITT U W AG0 aig) FH T e o ol U FEad oofl /R 39, H

S Aeed@ TR
() =Hue  gike gmeEr e (2)  dike - g e e
(3) Yz - fam oo s (4) ST HUHTY 1

The network in which each packet is treated independently of all others and even if a
packet is a part of a multipacket transmission, the network treats it as though it existed
alone is called as

(1Y Virtual Circuit Network (2)  Circuit Switched Network
(3} Packet Switched Network {4) Datagram Network
131. WRAGIE! 7 SavA augie 9o faeed wem  guen’ mud.
(1) «faey s (2) PIEMME TS
(3)  HeHHw P (4) ForiEy oftefE
Which of the foliowing __ __ is called as the ‘superbug’, used to clean up oil spills.
(1) Bacillus species (2) Pseudomonas species
{3} Salmonella species (4) Clostridium species

132. e oifz g T3a Soqvmes srade fqwden JTedl AR 3N, WRand d9feedid 2014 423 @y
st 3 wan

(1) fm ffm=r afw =fem (2) i AWEE

(3) FERY FRERHREH (4) @raER gfean

An injection of mix anti Gas Gangrene that would avoid amputation of organs has been
produced in the vear 2014 for the 15 time in India by __ )

{1} Serum Institute of india (2 Santha Biotech

{3) Haffkine's Bio-pharmaceunticals (4} *ocon India

133, #fld sya ar _ _ awe
(1) Fa® FTO7dt (2)  defa e
(3)  SITsRiadd o (4) scafafdd s
Bt cottonis _ .
(1) cloned plant (2} hybnd plant
(3) transgenic plant (4) mutated plant
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134. FHUTEIS, FHUT Yiher O T G99 T30 T,
(1)  HEr FHA (2) TEEFES FEHAT
(3) AT ®EA (4) TS A= FHAT
First successful vaccine against cancer has been prepared for
(1)  Oral cancer (2) Cervical cancer
(3) Breast cancer (4) Colon cancer

135. STIAYIGHd FEqdr SHfa0l SHqeNehiaa WO sfauardsl Yo & FROT
(1) 91 THo Teinsd weh fE AU, U wiawe I dal, 790 YR g 9ee gattd
ERGIIECIGA
(2) werden feuAy, =0 ydl 98e sAfaar ddm.
(3) A denfgR oot T Iefieds was e g,
(4)  TOR UsTeAT UVR SATERUIUET ! S Tl fmﬁwa&sﬁaqmmﬁc:ﬁq HeES 9N
G

Transgenic plants are easier to produce than transgenic animals because :

(1) __Plants can more easily be grown from single cultured cell into which foreign DNA
has been introduced.

(2) Plant DNA is easier to clone.
(3) Plant cells can be transferred by bacterial infection.
(4) DNA passes more readily through plant cell wall than through animal cell

membrane.
136. A T FiFwavdrae! sEeas wes VI T & T6d 7@
(1) Yeuf (2) femthfoa
(3) fa=e do i 4) T
Blood clotting does not occur due to lack of clotting factor VIII in disease.
(1} Thalssemia (2)  Haemophilia
(3)  Sickle cell anemia (4) Uremia
137. HERA ARG STehieie (HiHdr #TEe! T FEASATET I AT HeR
Sl
1) 3 *o™ (2) TH. Wif=fEy
(3) uffafem gt (4) HHTE FSmdt
o is the organism that is mainly used in the commercial production of alcohol
from sugar.
(1) E. Coli (2) S. Cerevisiae
{3) Penicillium species (4) Bacillus species
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138. HHal YK Y& _____ YA FHSU AN TTAdrd.
(3) chicman HPREs (2)  Heiferm Hreie
(31 FiexIsE Hel (4)  Ffewsp wighe
Corals aro a class of marine invertebrates that secrete ~ to form a hard skeleton.
(1) Calcium chloride (2)  Magnesium Carbonate
(2)  Calcium Carbonate (4) Calcium phosphate
139. THIST= e iHmyoE] avd seel sh e o wdawe Fvmel. e
FAF (cloning) FIAA 7
(1) @fges gimfateg (2) FrEEEs gfeord
() AT TS (1) EHATH
'Nit gene’ for nitrogen fixation is introduced by cloning
(1) Bacillus thuringenesis (2} Rhizobium meliloti
13)  Azctobacter species (4)  Rhizopus

140. =f. S s 3 e GehaH TLAM g, o Aibo Hai=ar T SHediey an oeemsd, 2014

wEl W JfEe Wyl wmria swew s gafaer
(1} & (2) = (3) dEE™ (4) fagivdms

vhe first complete functional, artificial chromosome for __ ____ was synthesized by
Dre. Jef Boeke and his team at the NYU langone Medical C ente s Institute for Systems
Crenetics in 20014,

(1Y  E.coli (2)  Yeast 3y Bacilly (4)  Arabidopsis
141, Tegt fewdl wiae (f2T) & HYaE & ardd) S,

(1} Stz (s (2) SfeTR

() PR (1) TR ZAIIS AN

Flue Green alpae are potentially used as :

() Biopestwidas (2)  Biofertilizers

(3) Insecticides {4) Phosphate solubilizers
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142, YIS TFLEH (F9) FHE & FIR ?

(1) AAgEeH (2) TEZH

(3) smifTad Hicew (4) T TRE WA

What is the source of nitrogen for green plants ?

{1) Nitrites (2) __ Nitrates

(3)  Ammonium salts (4) Organic nitrogenous compounds

143. WG IHT Fh AmEdo H SNy i § 7

(1) Zeklies (2) Tl (3) U () wHm
Which anticancerous drug is obtained from catharanthus rosens ?
(1) taxol (2}  vincristine (3)  colchicine (4) serpentine

144, SO Terd faar won 3t ardlvia feamimsd — 196°C o Fafargast gosd

ol I h T,

(1) S HrAiFEEs (2) iR

(3) g (4) o &g

Liquified _ _ _ is used for cryopreservation of plant material or animal cells
at —196°C.

(1} Carbon monoxide (2}  Oxygen

(3)  Nitrogen (4) Petroleum gas

145, i el 11wl el @ Taiaond Y W TS arg YeTid e A e

Frfor gt HRw

(1) dsdeAn]s Friia gicen SldTemsiae g 4 arime fHiddrea waiguigTa sae .

(2) WETIR d@ A wEACEsTETS 9y FeiEa s AE.

(3) aEren 9@ Higfatwl TaY YSaoreR dul AT SAHIEES A Bud Hiedl Jhl 3
St GE(TE A9 % IEhdld.

(4) SN AR STET EvFEd T 1 Fdqsdersge frita wih mda,

The main environmental advantage of biofuels stems from the tact that they result in zero
net green house gas emission because :

(1}  Carbondioxide they release upon combustion is extracted from the atmosphere during
biomass production.

(2) They do not release carbon dioxide during combustion.

(3)  They trap nitrogen during growth and release nitrogen dioxide during combustion
which can be utilized by micro organisms.

{4)  They do not require any carbon input during growth and hence there is no resultant
carbon dioxide output.
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146. 1997 & U AGRR (TTEET) W SMTATIs ST AdY HaseAl RerqUyHT
AT U TS
(a) WUH (b) @R (c) BT (d) T yafew
T 3
(1) () 2 (@ @) @ 4) (d)
In 1997 country was largely affected by floods due to excess rains (cloud

break) similar to Mumbai floods much later.
(@) Japan (by Canada (c) Hong Kong (d) Central America
Answer Options :

1} (b) (2) () Gy (a) (4) (d)

147. WOGUH! IO TH SIS Fehial 37 ?
(a) ZeRfmET fFTRugIaas Y&Tms Herer ol A @ 26 fedaR 2004
(b) HeER ST TR - 26 TS 2005
(c} & S=EH ;7 5 2013
(d) Tt Fgesr= K Tree S 9 ATRET ;24 SHaR 2006
wgiEt 3w
(1) (b) () (a) 3 (d) (4) (9
Which one of the following pairs is not correctly matched ?
(a) Tsunami created due to earthquake near Indonesian Coast. : December 26, 2004
(b)  Floods in Mumbai : July 26, 2005
{c) Bomb blast at BodhGaya : July 7, 2013
(d) Fire and stampede in the surroundings of Mandharadevi temple : January 24, 2006

Answer Options :

1 (B 2 () 3y @ 4) (9
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148, TY YHYHEIS T 80% YHT =1 AT g Tkl afeed.,
(1) WA - W s (2) e e q@er satq um
(3) WHH-TEGEH dee (4) sifeese wiEin e faway
Approximately 80% of all earthquakes occur in the
(1) Mediterranean - Asiatic belt {2) In the interior of the plates
(3)  Circum - Pacific belt {4}  Oceanic spreading ridge systems

149, UMY YR THT! The' TIHIGUST RV EE ASHT FT.
(1) TR (2) e (3) ufsEREl (4) TIUgfas yamo

In an earthquake Modified Mercalli Scale is used to measure :

(1) Magnitude (2) Intensity (3) Loss of life (4) Frequency

150, YA 9N Hid Y9 HOTTEY Fec FHH o

(a) VAR (b) oI (c) faem (d) IR Hwd
vkt sy

(1) @ @ () @ (2) () (@), () @)

3 (@), b) @) ©) @ (), (©) (@), @

g;r‘;:::ge the following four major earthquakes of India in chronologically ascending
(a) Jabalpur (b) Tatur {¢) Bihar (d) Uttarkashi

Answer Options :

(1) (a) () (b), (d) () (c), (4} (b). (a)
(3)  (d) (b (a), (c) (4) (b (c) (), (d)
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